Prealgebra Skill
Multiplying Integers
Find each product.

D (75 = RS

3 (@)-8) = — DL
5) ((2)0-10) = 2O
7 (o1 = WL
9 (4f-6) = — 2-\F

1 0-1) = 1O
13) (7)) = —%QA

15 (-2)(3) = ©

17 (5)~9) = — 45D
19) (-9 = i
21 (5)( = =09

23) (-10)9) = =4O

25 (1004 = =4O
27 (9)(-100 = =90

209) (<9)(8) — =17

CAns coers )

y 2 = — 1\

4 (3)9) = =)
6) (-10)010) — —1COG
8 (20-6) = — \"L
10) (<42 = — &
12) 2617 = — Y
14) (3)(-9) el
1) (3)2) = &

20) (2)-4) T O

| 22) ( = <\
24) (-10)2) = — L0
6 (2 = — 1%

%) (-7 = — K
0 (o)s) = —Yg



